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Plot the following exponential graphs:
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a) 𝑦 = 2𝑥 b) 𝑦 = 4𝑥 c) 𝑦 = 3−𝑥 d) 𝑦 = 0.5𝑥
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Tick only the statements below which are “True” of the graphs

1) 𝑦 = 8𝑥 passes through the point (0, 8)

2) 𝑦 = 3𝑥 passes through the point (2, 6)

3) 𝑦 = −2𝑥 passes through the point (3, −8)

4) 𝑦 = 0.5𝑥 passes through the point (1, 0.5)

5) 𝑦 = 2−𝑥 passes through the point (0, 1)

6) 𝑦 = 0.25𝑥 passes through the point (−1, 4)

Find the corresponding 𝑦 co-ordinate of the given 𝑥 co-ordinate which lie on the given exponential graphs 

e) 𝑦 = 3𝑥 where 𝑥 = 4 𝑦 =

f) 𝑦 = 2𝑥 where 𝑥 = 5 𝑦 =

g) 𝑦 = −2𝑥 where 𝑥 = 4 𝑦 =

e) 𝑦 = 0.5𝑥 where 𝑥 = 3 𝑦 =

f) 𝑦 = 0.5−𝑥 where 𝑥 = 4 𝑦 =

g) 𝑦 = −2−𝑥 where 𝑥 = 4 𝑦 =

Exam question: 

Complete the table of values for the graph of  𝑦 = 3𝑥

𝒙 −𝟑 −𝟐 −𝟏 𝟎 𝟏 𝟐 𝟑

𝒚

0.1 0.3 0.5  1    2    4   8                    0.0 0.1 0.3 1    4   16                      27   9    3    1   0.3 0.1      8    4    2    1   0.5 0.3 0.1
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